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         Max Marks: 30

	Section – A

	Q1
	 Use the following structure of Customer table to answer the following questions

Column Name

Cust_ID

(Primary Key)

Cust_Name

(Not Null)

Cust_Add1

By Default

‘Churu-raj.’

Cust_Add2

Pin_Code

(Check Input no is 6 Digit  long)
Cust_Phone

Data type

NUMBER

VARCHAR2

VARCHAR2

VARCHAR2

NUMBER

VARCHAR2

Length 

7

30

20

30

6

10



	
	(a).
	Write the SQL Command to create the above table including its Constraints
Ans:


	3

	
	(b).
	Write a SQL code to modify all the CUST_PHONE numbers by joining ‘2’ before each phone number if it contains 7 characters
Ans.


	3

	
	(c).
	Write a SQL code to modify all the CUST_PHONE numbers by removing ‘2’ if it starts with ‘2’
Ans.


	3

	
	(d)
	Write a SQL Query to Modify above table structure to increase a column “Cust_Phone” size with 2 e.g. (10+2=12) and also apply a NOT NULL Constraint on its. 
Ans.


	2

	
	(e).
	Write a SQL Query to remove above table column “Cust_Add2” structure using Alter Command.

Ans.

	2

	
	(f)
	Discuss database Integrity Constraint and Foreign Key 

	2

	
	(g)
	What do you mean by SGA and BCNF? Discuss various Background process for Oracle Instance.

	1

1

1

	

	Q2
	Consider the following tables Employee and salary. Write SQL commands for the

statements (i) to (iv) and give outputs for SQL queries (v) to (viii)
[image: image1.png]ST T Deptid | Qualification | Sex
T Deepali Gupta [ 101 MCA F
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5[ SumitMial_[105 | B.Tech M
6 [vot 101 | MTech [




 [image: image2.png]Table : Salary

Basic | DA | HRA | Bomus

16000 [ 2000|2300 [200
> 5000 [500 [500 50
31000 300 [500 [0
T 1500 [390 [490 |30

8000 000 [ 000 |80

10000 ] 500 [ 100 189





	

	
	(i) .
	To Display The Total No. Of Employees Department Wise.

	1

	
	(ii).
	To List The Names Of Those Employees Only Whose Name Starts With ‘H’

	1

	
	(iii).
	To Add A New Column In Salary Table. The Column Name Is Total_Sal.
 
	1

	
	(iv).
	To Store The Corresponding Values In The Total_Sal Column.

Where,  Tot_Sal = Basic+DA+HRA+Bonus


	1

	
	(v).
	Select Name From Employee Where Eid = ( Select Eid From Salary Where

Basic= (Select Max(Basic) From Salary));


	1

	
	(vi).
	Select Max (Basic) From Salary Where Bonus >40;


	1

	
	(vii)
	Select Count(*) From Employee Group By Sex;


	1

	
	(viii)
	Select Distinct Deptid from Employee;

	1

	Section – B

	Q3
	Read the following case study and answer the questions that follows:

	
	With Diagram, Differentiate between.

	
	a).
	Front end and Back end 

	2

	
	b)
	Two tier and three tier computing model

	2
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